640 LC4 SUPERMOTO ORANGE 2003 <2003><EU><972630>
IGNITION SYSTEM

Pos Part Number Description Additional Text Quantity
1 58439005100 FLYWHEEL KOKUSAN GP9128 '97 1.00
2 58439004000 STATOR KOKUSAN LOOSE '96 1.00
4 5843000214423 IGNITION COVER CPL. GREY 03 WITH OIL INSPECTION 1.00
GLASS
5 58430040000 IGNITION COVER GASKET '96 1.00
6 0912050253 AH SCREW DIN0912-M 5X25 3.00
7 58430095000 INSPECTION GLASS GW 20-7 1.00
8 49030090000 DOWEL 9,8 X7 X 10 FS-E 2.00
9 0912050083 SHCS DIN 912 M5x8 2.00
10 58439034000 PULSER COIL 1.00
12 58411034100 VOLT.REGULATOR-RECTIFIER 12V 1.00

1085



14* 58439031500 DIGITALBOX CDI LC4 03 625 SXC USA 1.00
15 58439006000 Ignition coil 1.00
16* 59039093100 SPARK PLUG NGK DCPRSE 03 1.00
17 58439090000 SPARK PLUG CONNECT. 03 1.00
20* 58411055200 BATTERY BRACKET 03 1.00
30* 58439030200 RUBBER BRACKET FOR DIGI-BOX 03 1.00
31* 58439030250 SUPPORT FOR RUBBER BRACKET 03 1.00
32 0017050181 SCREW FOR PLASTIC D=5X18 2.00
33 56509064100 Self locking nut M6 - 10 2.00
35 0015060103 HH COLLAR SCREW M 6X10 WS=8 FC 2.00
36* 0015060163 HH COLLAR SCREW M 6X16 WS=8 FE, FS 2.00
37 0015060253 HH COLLAR SCREW M 6X25 WS=8 1.00
38 0015060303 HH COLLAR SCREW M 6X30 SW=8 LC4, LC4 SM, DUKE 2.00
40 0015060803 HH COLLAR SCREW M 6X80 WS=8 1.00

* = New part




